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&S NS HIIS2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AP Mt 3,837,590 3,362,983 474,607
= 603,123
J| 4,938
< 178,175
s 3,051,354
HII2Xc2l JIBtAIE &= 3,505, 145 2,957,501 547,644
=2 537,170
J| 4,938
< 137,891
s 2,825,146
ATE=&d Hils2el 3,505, 145 2,957,501 547,644
= 537,170
J| 4,938
< 137,891
s 2,825,146
geoldel 3Add PE 20,500 5,500 15,000
201 et 1,000 1,000 0
01 At 2teltl 1,000 1,000 0
OFA2dE PR =& g &Hl 1,000,000& 14 1,000
203 YR =&l 2,500 2,500 0
03 AIMHF=XH R =AH| 2,500 2,500 0
OFARY FRF2 2,500,000 » 14! 2,500
207 & RO ] 17,000 0 17,000
01 H23 39l 17,000 0 17,000
OXtdzg HeH = 17,000,000 * 14! 17,000
C2SH0E EAH XNFAY 769,940 764,000 5,940
= 384,970
s 384,970
402 RI2HXt20l M 769,940 764,000 5,940
= 384,970
[ia 384,970
03 212t & AL S HI 769,940 764,000 5,940
OLZFSHO0E EH NAAL(EN)
704,000,000& » 14 704,000
= 352,000
s 352,000
OLZFSAUO0E EH XA ()
65,940,000& 14 65,940
= 32,970
s 32,970
orM S A @ 2tg| 82,700 40,700 42,000
201 et 82,700 40,700 42,000
01 At 2teltl 82,200 40,200 42,000
OSdO0IE(AE) Ml 70,000,000 » 14 70,000
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OHGIAEE 801 55 =5
200,000 *35H 2 7,000
O&HA=E otd2el JH0IE=S M=
30,000& 40 1,200
ONHHAEZE NEEH 222 7Y
1,000, 000& 1 1,000
O&H g2 =24 1= 1,000,000& 14 1,000
OMH AR =X E2EE(2EM . 8% 5)
2,000,000 x 14 2,000
02 2524l 500 500 0
O&H R FA RERS 500,000& » 14 500
AT 2 HS0 5,488 12,449 26,961
J| 4,938
< 275
s 275
301 EEd = 5,488 12,449 A6,961
J| 4,938
< 275
[ia 275
12 JIEtE &= 5,488 12,449 A6,961
O AHIloi =M= 5,488
— UM 1,488,000& 14 1,488
J| 1,338
< 75
s 75
—2%=0 4,000,000& 1 4,000
J| 3,600
< 200
i 200
MEoIEEH =& 1,510,987 1,417,295 93,692
201 L4l 125,955 125,763 192
01 At 2t 2l 111,855 111,855 0
oXgll =18 REFY P&
2,000,000& » 14 2,000
OSASRHIIE S2L==HEI ME & As2
2l 6,000,000 » 14 6,000
OSAMESRHIIZ SN 222 MHA
3,000,000 =14l 3,000
OdaMy ) 2elthis 88 S
3,000,000 » 14l 3,000
OAEIA HZEH 3,600
—HEHII=S &5 AEIA 800& *2,000% 1,600
— MY DI BSEHM et AEIH 800& *2,500% 2,000
OXdzs 22 =X 222 MEA(SSH, M
83288 ) 5,000
—s=9 3,000,000& x14 3,000
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- 28 2,000,000 x14 2,000
OMIIZSEN & HIISHHEAMEE 38 S
Hl 1,500,000& 14 1,500
OQHIISHHEMNSEE NEEHIE =374 1,400
— =3 150,000& *4H 600
= 200,000& x4 H 800
OSAEFRHIIE =HEAXL S
3,000,000 =14 3,000
OSAZEBHIIZ #)0BAN M= 2
1,000, 000& 14 1,000
OUIMXI & MeJl Mel "Hl&
5,000,000& » 14 5,000
QMEMY I (ZAAILE B1) SAL =Sl
3,000,000& x14 3,000
OSAMERHIIE SEXelIl LIS
47,000& 112 1504 7,755
OFY 28x 28 SHYRyY)
60,000& x11&8 %103 6,600
O=F o= 5 7 3,300
—&g=s &5 7Y 200,000& x11H 2,200
—&gs 2L 100,000& 11 1,100
OFH 201 Mel 30,000,000& 14 30,000
Osg MgJl =H SMK SgHl X
2,000,000 *14] 2,000
OMSEHIIZ & €3 600=+10,000& 6,000
OMEHII2 +Z28 A 2587 2
200,000& »46H 9,200
OFELAHE HIYE 2Z0ISH FHALE 22
2l 1,500, 000& 54 &H 7,500
OZ2=ZAHREHY KA LAXZA
2,000,000& =14 2,000
=323l 14,100 13,908 192
OmJl22d CFXe ERI3
1,200,000% 1 1,200
OCCTV & RFID &8JI2= &  4,000,000& 14 4,000
Osgt=HIl=8gsal Asltl 2,000,000& »14 2,000
OMEHIIE =HSAME HLESHI
150,000& 46X 6,900
202 O4dl 7,200 8,000 A 800
= LH 04 H 7,200 8,000 A 800
OSAMERHIIE =AHEAXN EENHHI
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206 M= Hl 124,032 92,232 31,800
M = 8l 124,032 92,232 31,800
Ox2AEZZHN=ESE & WSSOI ME 45,500
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ongss =18 3825 N
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3503 *300H « 128 « 1200 & 1,512
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OSAESRHIES =HEI P& 15,520
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— &J| 52lH 4,000& 2004 800
— &J| 602I& 30,000& 2004 6,000
— &J| 1202 ¢ 40,000& 2004 8,000
o I 2 Y| 5,000
R E A 5,000
O84S & UHEHII= 2ASE JItAHL A
24 5,000,000 » 14! 5,000
LLENM S 72,000
JIEtEA S 72,000
OHMEHIISZcBaAMd s4X20 2Y
6074 2~ 100,000 =128 72,000
gIztol & 586,300
QIZtRIEZ 586,300
OSA2FHII2 |H™el 1,850&+*200,000& 370,000
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OMEHIIS(ZEHNESE 242) =H U
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OMgd 828(2sI172)72L 2,500,000 *20H 5,000
e s =g 265,120 267,700 ~2,580
201 L2l 208,120 240,700 A 32,580
01 At 2t 2l 67,900 100,480 A 32,580
OXlot= =ZZA 510,000 34 A *43] 6,120
O&== Ml =23 M 350,000& =123l 4,200
OHVIS™MelAlE Mg ol HH S
5,000,000& =14l 5,000
OZITHEELEANE HEES =AXNel BA
A =&l 3,000,000 » 14 3,000
OdgARmHIIS2(Hs S) *AE M
800,000& x63l 4,800
OgZ0atd s 2 &Yst 7 10,500
— mo= 7,000
— &g 3,500
O&J|tEze W2 150,000& *123] 1,800
OB HIIZS UHSHZAAE S22
1,000, 000& 1 1,000
Os284A =2 5,000,000 » 14 5,000
OgAE 47 AMEH 60,000& *43] 240
Ollg® &22ls RAEBx 5,000,000 =14l 5,000
O&F=) gz 700,000 +2CH 1,400
O&=HelANd A& 5,000,000 =14l 5,000
OHEAIE 2els 425 7
6,000,000 » 14! 6,000
OAR 2 Roichs ML AAl
80,0003 *204 #2323 1200 & 3,840
Ol 2SIl HII2 ™Meldl& 2,000,000 x14 2,000
OHLZHINE HII= XMBlE
3,000,000& 14 3,000
02 2324l 140,220 140,220 0
OUNEAE SR (2=U1H S)
5,000,000& x1& 5,000
O&=HelANd SR & 9,000,000 » 1 9,000
OHEAE 2F B2ER= S 26,100
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01 X2 bl 27,000 27,000 0
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OXst 4+t~ % XSZAE 2t 22 7
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OFE=XelAg B2 Al S
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401 Al HI & 28I 30,000 0 30,000
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101 @124 dl 84,000 80,000 4,000
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04 D12t Z2 RS2+ 84,000 80,000 4,000
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01 At 22/l 6,000 5,714 286
Ootd 22RMEI =HAMY  6,000,000& 1 6,000
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s 1,800
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s 4,881
308 XXM S0 A 9,763 19,191 A9,428
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o 16,800
01 A& HI 24,000 20,000 4,000
Ozsdotd &5 NIAEY
6,000,000 «4J4 & 24,000
= 7,200
i 16,800
s =H £ HE Hel N 48,000 60,000 A 12,000
< 14,400
s 33,600
307 glz2tol & 48,000 60,000 A 12,000
S 14,400
s 33,600
05 RIZHRI & 3 48,000 60,000 A 12,000
OSsHIAM =H & HEFHe XN
48,000,000& » 14 48,000
< 14,400
e 33,600
Mes subty XA 150,000 0 150,000
= 75,000
s 75,000
401 Al HIZ 201 Y] 150,000 0 150,000
= 75,000
s 75,000
01 A& HI 150,000 0 150,000
ON&s suUlty EXAY
15,000, 000& *109H £ 150,000
= 75,000
s 75,000
MEHIIE HE BHEAME &X 75,000 60,000 15,000
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[ia 52,500
401 Al HI K 2018 75,000 60,000 15,000
< 22,500
s 52,500
01 A& HI 75,000 60,000 15,000
OHEHII= AT HHEANE &X
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OMggs(s0lH 5) = WeEEsE 1
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OQO8AF, M Al ASeHEAND g 285 I 6,000
= 1,800
= 4,200
SAN MEZ HIOINRA 900 1,200 A 300
= 270
= 630
201 2Et24Ay| 900 1,200 A 300
= 270
= 630
01 AP 22| d| 900 1,200 A 300
OSAE AMSZSH B 2 A48 HE X
& 900
& 270
= 630
SAE S AEME X 35,000 70,000 A 35,000
& 15,000
= 20,000
402 SI2VXHE0| & 35,000 70,000 A 35,000
& 15,000
= 20,000
02 BIZtXIEANYE X (0OIETHH) 35,000 70,000 A 35,000
OsAE AMEMHE X3 35,000
= 15,000
= 20,000
ZCMHIA AXSHAAZS HA) 3,000 0 3,000
= 1,500
= 450
= 1,050
201 et d| 3,000 0 3,000
= 1,500
=} 450
= 1,050
01 AFR 2t 2| H| 3,000 0 3,000
OOt AIE AMAIZSIHE 23 28 A& 3,000
= 1,500
& 450
= 1,050
HESHAH (EAANM) 50,028 45,840 4,188
JlE&dl 50,028 45,840 4,188
HARMY J|=2HH| 50,028 45,840 4,188
201 et d| 18,360 19,440 A 1,080
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2N

M MESAAH (HAYMT)
Sel: ol EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 18,360 19,440 A 1,080
Oz & 14,688
O=&Hl &0l at 3,672
202 O4dl 26,868 21,600 5,268
01 = LH 4 Hi 26,868 21,600 5,268
OZSH 0ol &t 26,868
203 YR =&l 4,800 4,800 0
04 FN2ELSZ=TH| 4,800 4,800 0
OFA?Y BEAN2LYF=A 400,000& 122 4,800
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